
y = 0.007x
R2 = 0.9908

0

500

1000

1500

2000

2500

0 50000 100000 150000 200000 250000

Corpus size (words)

Se
co

nd
s

0

20

40

60

80

100

120

140

160

180

0 5 10 15 20

Se
co

nd
s

O(n) O(log(l))
R=0.92R=0.99

0

50

100

150

200

250

300

350

400

0 2 4 6 8 10 12
L parameter

Se
co

nd
s

O(1/Lλ)
R=0.99 λ=1.7

Average sentence  length (words)

0

100

200

300

400

500

600

700

800

0 10 20 30 40 50 60
Lexicon size

Se
co

nd
s

O(1/Nγ)
R=0.88 γ=0.3

A B

C D

Figure S14: Four experiments estimating the computational complexity ofADIOS by measuring the training
time until convergence (ordinate) on the TA1 grammar versus:(A) The total number of words in the corpus;
(B) The average sentence length (the experiment manipulated the average sentence length without increasing
the total number of words in the corpus);(C) The initial lexicon size;(D) The value of the context parameter
L.
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